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Inventory Management |
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Note : Attempt questions from all Sections as per

instructions.
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Section-A | .
FeLoR
| (Very Short Answer Type Q“eSﬁO"‘S)
(i @y Sl W)
Answer all the five questions. Each
question carries | 3 marks. Very short

answer is required not exceeding 75
words. 3x5=15
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3 it F1 R | st 75 9=l 7 oHfd @Y
I SRR B |

1. What is inventory ?
g FT A ?

2.  Whatis inventory cost ?
Y AT o Y 7

3.  Whatis lead time ? What are its types ?

oIS T F0 &7 35D YHK 1 &7
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4. What is meant by reorderlevel ?

g?aﬁmmmwm%?

5. What is EOQ ana1y31s ?
Sy s T B
Section-B
YqUs—q
< (Short Answer Type Questions) |
(7 Swla 9) ]

 Answer any two questions out of the #
following three questions. Each question £
carries 7% marks. Short answer is
required not exceeding 200 words.

T2%2=15

Frfaiad o9 gt 7 @ 52 & ul &

IR AR | 5% U 7Y St R
BT 200 I § Y IR ST &

6.© - What are: the pr 1nc1ples of inventory
"/ . management ?

Y T & 7 Rygre &7
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7. Define accounting treatment of scrap and

give the format of scrap report.

e A9 & aEi®d SR & qUN
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8. + A firm requires 40,000 units per annum.
: Material annual storing cost per unit is
Rs.10 and ordering cost per order is Rs.12.
Cost of each unit is Rs. 4. What quantity

should be ordered in one time ? How
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A
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many orders will be placed in a year ?

What will be the time interval between

_two orders ? Also total cost of invenfory.

T BH B 40,000 THe UqEs @A
HEAWHA ol TR B s qUSRT
ArIT 10 B. 9 3918 a7 SMeyT AN i
S 123 B | J% §HE B A 4 5.
Bl O W ¥ Rl A oy @ W
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ST ST |
Section-C
que-4
(Detailed Answer Type Questions)
(g Sl )

Answer any three questions out of the,
following five questions. Each question
carries 15 marks. Answer is required in
detail. 15x3=45

Frtferie drer gt & & st O uedt &
IR AT | JAF AT 15 Sl H R
frega IO onfea B

What 1s meant by working capital ?
Discuss such factors that exercise

influence on the demand for working

capital in a business concern.
039
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;%repare a store ledger account on the

- ‘Highest in First Out’ basis :

2024

Jan.1 Received 600 units @ Rs. 1.25p. u.
Jan.3 Received 200 units @ Rs. 1.20 p. u.
Jan.7 Issued 400 units

Jan. 10 Received 500 units @ Rs. 1.15 p.u.
Jan. 15 Issued 400 units

Jan. 18 Received 600 units @ Rs. 1.10 p.u.
Jan. 24 Issued 400 units

Jan.26 Received 500 units @Rs. 1.20 p.u.
Jan. 27 Issued 400 units

Jan. 28 Issued 300 units

There was no opening stock. The stock on

31stJan., 2024 was 480 units.
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11. From the following part1culars of Shreyas
Ltd,, you are required to determine the
' work;ng capital requlrement
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(a) Average amount locked up in stocks :

Stock of raw materialsRs-20,000 p. a.
Stock of work-in-progress Rs. 4,000 p.a
Stock of finished product Rs- 30,000 p.a.

(b) Credit period allowed to customers :
Home market 2 weeks Rs. 2,60,000
Foreign market 6 weeks Rs. 6,24,000

(c) Laginpayment:
For purchase 4 weeks Rs. 1,56,000

For wages 2 weeks Rs. 2,08,000

For manufacturing exp. 1 week 78,000
You may add 10% to allow for

contirigencies.

g Ry, & Frefiad o § S

@ﬁwaﬁﬂww%:

(@) & T TR T ) S
Fo O H &Y 20,000%. p. &
aG FE T 4,000%. pa.

AR AW & 30,0005 p. a.
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(b) e B Wi qE Ay :
R TR 2 8% 2,60,000.
A TR 6 TR 6,24,000%.
(c) Fae o §F foer
TiE 4 T 1,56,0005.
AGY 2 B 2,08,0’0.0 5.
fetor @ 1 & 78,000%.
ST 10% STERERe @ R A

}M' company operates 300 days in a year
and consumed 400 kg. of raw material per

day which costs Rs. 5 per kg. The
ordering cost is Rs. 100 and the carrying
cost is 50 paise per kg. per month.
 Calculate EOQ and total inventory cost.
Ordering cost and carrying cost are

unchanged.
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(1) If company ordered per month, then

1% discount in purchase price.

(ii) If company ordered quarterly, then

394 discount in purchase of price.
(iii) If company ordered half yearly, then
5% discount in purchase price.
Which option is best for company ?

@ Fa a§ & 300 R FE B & W
e 2 e e 400 B
o owi Fh & R @ s 5.
st frem & IRY AR 100 5. B, a8
e S0 ¥ o Pecham sReE B
Pl sl R O 90 & A0
FOQ T T T geT @
JTaREeE § |
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(i) 3R F o ey & 8, O Y
Ted & 3% 3t g Pt

(iii) 3% ¥ Bl QW A &, @ HA
T # 5% %l g2 Rl |

FI & g Bi-a1 feeq o 87

13. / What do you understand by inventory
control ? Explain the types of inventory in
detail.

TGN P @ o T TR E
TS B TR W REREE.
BT | |
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